Xtreme: GO REFINICY

Racks PRODUCTS

Bufit to demand respect |

Innovative Truck Racks!
Two Companies ! One Vision !

DoﬂluLmR ’" SideSteps WHEEL - 70 - WisEeL

INSTALLATION INSTRUCTIONS
PART NO. D36039 CHEVY/GMC EXT CAB P/U 2/4WD SHORT BED REV.A 2/08

PARTS LIST
Qry PARTS DESCRIPTION Qry PARTS DESCRIPTION
6 5/16” U-NUTS 18 3/8” FLAT WASHERS
6 5/16” X 1” HEX BOLTS 3 C07D DRIVER MOUNTING BRACKETS
6 5/16” LOCK WASHERS 3 CO7P PASSENGER MOUNTING BRACKETS
6 5/16” FLAT WASHERS 1 339FP FRONT PASSENGER SIDESTEP SECTION
18 3/8” x 1 1/4“ HEX BOLTS 1 339RP REAR PASSENGER SIDESTEP SECTION
18 3/8” LOCK WASHERS 1 339FD FRONT DRIVER SIDESTEP SECTION
18 3/8" HEX NUTS 1 339RD REAR DRIVER SIDESTEP SECTION

STEP 1. Read the instructions completely before you begin the installation.
If the vehicle is equipped with factory side steps, remove the side steps and fasteners.

FRONT FENDER BOLT )

STEP 2. This installation uses three mounting brackets per side. Begin by installing the passenger side
front mounting bracket. Measure reward from the front fender bolt approximately 14” and locate the
holes in the body pinch mold, rocker panel and the plastic plug in the rocker panel.




PLASTIC PLUG

STEP 3. Remove the plastic plug from the rocker panel and install (1) 5/16” U-NUT as shown.

~ ” ™

ROCKER PANEL —

INSTALLED 5/16” U-NUT

SS—

5/16” X 1" HEX BOLT, LOCK WASHER & FLAT WASHER

CO7P MOUNTING BRACKET

3/8” X 1 1/4” HEX BOLT, FLAT WASHER, LOCK WASHER & HEX NUT

STEP 4. Loosely attach one of the CO7P mounting brackets to the rocker panel and pinch mold using
the 5/16” and 3/8” fasteners as shown.




o e )

PASSENGER SIDE FRONT
C07P MOUNTING BRACKETS

STEP 5. Locate the holes in the body for the center and rear mounting brackets. Measure rearward
from the front fender bolt 37 %4” for the center and 67” for the rear bracket. Repeat steps 3 & 4 to install
the center and rear brackets.

CO7P MOUNTING BRACKET

e .

PASSENGER SIDESTEP

3/8” X 1 1/4” HEX BOLTS, FLAT WASHERS, LOCK WASHERS & HEX NUTS

STEP 6. Position the passenger sidestep up to the vehicle and loosely attach it to the mounting
brackets using the 3/8” x 1 1/4” hex bolts, flat washers, lock washers and hex nuts.

STEP 7. Tighten all mounting bracket and sidestep nuts and bolts.

STEP 8. Repeat the above steps to install the driver side mounting brackets and sidestep.

VISIT OUR WEBSITE FOR OUR COMPLETE PRODUCT LINE!
WWW.GORHINO.COM . PH: (888) 427- 4466 . BREA, CALIFORNIA



http://www.gorhino.com/

	QTY
	6
	6
	PARTS DESCRIPTION
	C07P PASSENGER MOUNTING BRACKETS

	STEP 1. Read the instructions completely before you begin the installation.

